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B
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2 T 35,533,036 31,304,459 4,228,577
= 3,667,667
= 5,962,500
£ 21,000
3 7,100,305
= 18,781,564
THEHOHR 22| 2 QIEre 2O LY Al 2,358,402 1,080,723 1,277,679
= 7,773
= 6,000
< 57,335
= 2,287,294
TH 4Ol 24 A RS 323,957 801,257 A4T77,300
= 2,100
= 24,304
7 297,553
WEHEH X2 84,477 69,557 14,920
= 1,420
T 83,057
201 Yer2oy| 54,477 39,557 14,920
= 1,420
= 53,057
02 222 54,477 39,557 14,920
OMLHEHl KXl 41,565
OMsi2 =21l |2 9,465
= 1,420
= 8,045
OS4S2AAY SN2
20,0002 +4074 £ %128 9,600
OMHENTZT SAZL 20,000
OM =Y 24 500, 000! *55 2,500
oMHEH 28 2222 ¥ A 12,912
OIS FBII AFERS 20,0002 +60H 128 1,440
OFXSAALAL AFE22 30,0002 128 360
OLSYAAEY SHURS 10,0008 +504*128 600
OSHSBAAY SRS
7,000 #58CH 122 4,872
OPEN-NOPS 2 AFERZ  258%10,0008 *123] 3,000
SNMBE M3 130,0002 * 128 1,560
OCCTV ®2I23 30,0008+ 12 360
OCCTV S4123 60,0008 * 12 720
401 AlEHIL2OHY] 30,000 30,000 0
01 A& 30,000 30,000 0
O-% NHSSHSE AAY DA
15,000, 00021 «274 2 30,000
HAHSIE R0 HHA 150,000 140,000 10,000




A AL
M Ijeerd e g

=

R IIN

t

ton

CHl: T O AL (S5l &2
_ _ _ Muo
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401 Al&HIL 20| 150,000 140,000 10,000
01 Al&H] 150,000 140,000 10,000
OTBHPIBRLl HIHAL 150,000
oo s 11,500 1,500 0
206 T2 8,500 8,500 0
01 WEHl 8,500 8,500 0
oMbl 8,500
OZ46 2N RFU 10,0008 *15%+123] 1,800
O HHBE P
10,0002 ¥525 *507H 2,500
ONEEE U U7 (5E)
300, 0002 * 1474 & &1 4,200
301 YPBAS 3,000 3,000 0
10 BAHAHI B A S 3,000 3,000 0
OZ45 2A NFHHBHE 243
10,0002 +25% +123] 3,000
AMAILE &R 2 13,780 16,000 A2,220
= 3,834
2 9,946
201 L2y 1,000 1,000 0
02 22| 1,000 1,000 0
OOITHYl s/l & |2l 500,008 *2A 1,000
401 Al&HIL 20| 12,780 15,000 A2,220
= 3,834
2 8,946
01 Al 2,780 15,000 A2,220
O2=0 HFMEXT MX 1,278,002 107 A 12,780
= 3,834
2 8,946
S0/ E A& &K 4,200 4,200 0
= 2,100
= 1,050
2 1,050
401 Al&HIL 20| 4,200 4,200 0
= 2,100
= 1,050
2 1,050
01 Al 4,200 4,200 0
OS50 AFAL &X| 4,200
= 2,100
= 1,050
2 1,050
REINLBENAYTE 60,000 60,000 0
= 18,000
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= 18,000
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o 22 53, 164 39,000 14,164
= 4,462
[ 7,231
2 41,471
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01 At 8,000 8,000 0
OoHE B2 HE A 50,0002 +805 4,000
OXIATHLHTHE] AP Z2IHE 50,0008 *402 2,000
ONATUEE HSO = 50,0002! x40 2,000
TS 0L orE E 16,924 18,000 A 1,076
= 4,462
= 2,231
2 10,231
201 ety 13,924 15,000 A 1,076
= 4,462
[ 2,231
2 7,231
01 At 13,924 15,000 A 1,076
OTHHHAHE AFEZ |
13,924,00021 14! 13,924
= 4,462
= 2,231
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206 W= H| 3,000 3,000 0
01 MEHl 3,000 3,000 0
OTHHHAHE AHEZ HEH|
3,000,0002 14! 3,000
Mot @ =z 13,240 13,000 240
201 Ler2%y| 12,240 12,000 240
01 At 12,240 12,000 240
oYt 4,120
Ost=e e sl sl 1,000,0002 %13 1,000
OMSHTHR A&l Rl 200! *5, 00004 1,000
OMtaEAl TRIE &l 180,0002! *43| 720
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SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 QI2t0IA 12,000 11,000 1,000
03 AtRIEMEXLS 12,000 11,000 1,000
ODnHET S (KA )AUN HEST 12,000

401 Al&HI LR OHYI 1,700,000 0 1,700,000

01 Al&HI 1,700,000 0 1,700,000
ONEAHMN A A= 2X Y 1,700,000

403 AXIHHSA=201H 80,848 0 80,848

02 S| 2SOCHStCH AL I 80,848 0 80,848
o &H 2& 35,200
O&=HHINE 4,400,000 «3MI E 13,200
OEH0IHFE 2,000,000& 3 6,000
ONREE 4,000,000 = 1CH 4,000
O=x==2t83HD] 8,000, 0002 = 1CH 8,000
OS=EZETHINE 2,500, 000& x 1Nl E 2,500
Og&ENHE Ba= 250,000 +6& 1,500
oMUl 2es+xs8d gl 4,000
O3 =&l Fi= 1,000
Out=2 82 A=Z| 15,000,000 *1CH 15,000
OZAN AgHE 43023 1,848
O2371(3.3K) 22,0002 +84AICH 1,848
OSSHA&E3 A NAR2H 19,600
Odss0tdl2l ME 10,000,000& * 1M E 10,000
Ott=& CPROMUIZ! 350, 000& *6IH 2,100
OLI&H™XIJIXM ME 2,500, 000& 3N E 7,500

OEM.EHLQ St EE It

10,0003 10Kl CH =122 1,200
Oaxgologr Y N9 A} 3,000

SANASHA 9,120 9,120 0

SAAs AA 9,120 9,120 0
201 LBt 3| 7,120 7,120 0
01 AtS 22/l 7,120 7,120 0

SXNHS AA 2,320
OSXAHs A=A 2 20,0003 102 A 200
O= A & 100
OdED 2TV S 100
Oo=ZgHd e ¢ 120
OsXds & S2AE XA A

10,000& 605 600
OsXds =2 MA 600
OsXds 424 USHL M

3,000& 2005 600
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rab= P\ =

B UM W UUSI A
el SX S AAl CER-E!
SA - HE . CR(B]H) - NBEAIY - HA2 Al OH &EIE Ho=2t
- cTo=m IO T ° - (= S = &= O:H{ﬂ,% Lsa
= gl 4,800
O2XHs =HI(All) 7,000& *600H 4,200
OSXAE S HI(2HA) 2,000& x300H 600
301 LEEAZ 2,000 2,000 0
10 EALAHIZEA S 2,000 2,000 0
OSXds ANEd IOt 24
10,000& 200 2,000
SUAIRRALBA 72,000 140,000 268,000
= 6,000
= 66,000
SUAZRRE B43 72,000 140,000 268,000
= 6,000
= 66,000
301 YptEaag 72,000 140,000 268,000
= 6,000
= 66,000
09 SU2RRIABHN = 72,000 140,000 A 68,000
0TUZLRA 243 72,000
O3422¥A 243 5,000,000& = 12& 60,000
= 6,000
= 54,000
O2B9Z22R¥ Mal24= 300,000& 40 12,000
SN2 & ot EY| 8,181,784 9,640,700 A 1,458,916
= 3,409,894
& 1,014,000
= 3,757,890
SERXZ A 1,183,576 1,011,492 172,084
= 714,000
= 469,576
Htss=+ 135,576 135,492 84
201 LBt A 123,200 123,200 0
01 AtE222|H] 123,200 123,200 0
os2g =+&H gz
440,000& x2Z 10 * 144 S H 123,200
302 OI=L o2& = 12,376 12,292 84
02 Q2RI E A= 12,376 12,292 84
OO L =3 &O| Q12 Ay
7,000 x10E+5L*x14HSH 4,900
oMoty & =27 5 RFUH
1,618+ 1103 1401 S &H 7,476
=HRTHHHEE 2 10,000 8,000 2,000
206 M=l 10,000 8,000 2,000
01 M=z 4l 10,000 8,000 2,000




SN AL D
o =aX 2 oI
Sl STXRAIY

_ - &EIE =
SN CR(EH) - NRAY - BES 01l &t o e HRE2
o= HEEZF 2 10,000, 000& » 14! 10,000
Zs0lEE 28,000 28,000 0
= 14,000
s 14,000
307 2I2tol & 28,000 28,000 0
< 14,000
= 14,000
02 2ItBAE X 28,000 28,000 0
o3l 2¢ 28,000,000& » 14| 28,000
& 14,000
i 14,000
THoH 3 2 Al E H Y| 1,010,000 700,000 310,000
S 700,000
= 310,000
401 Al&HI LS04I 1,010,000 700,000 310,000
< 700,000
= 310,000
01 Al&H| 1,000,000 696,000 304,000
ON=SH Mol FAAIE HH
1,000, 000,000 * 14! 1,000,000
ES 700,000
= 300,000
03 AIZ 204l 10,000 4,000 6,000
OAZ 204l 10,000, 000& » 14! 10,000
ot ZHIAY 6,998,208 8,629,208 21,631,000
= 3,409,894
= 300,000
i 3,288,314
St =4 A 2,100,000 2,000,000 100,000
= 1,800,000
i 300,000
401 Al EHIL 201 2,100,000 2,000,000 100,000
= 1,800,000
= 300,000
01 Al£Hl 2,090,000 1,990,000 100,000
Oot==& At EAH & A&
2,090,000,000& * 14| 2,090,000
= 1,800,000
i 290,000
03 Al£=R04Hl 10,000 10,000 0
Oote =L MY AZ=0Hl 10,000,000 14! 10,000
ot&JI &M &l 261,600 341,600 80,000
201 et 61,600 61,600 0
01 AtS 22/l 61,600 61,600 0
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SN AT D
Zu: 22T o GHEIY

Rl ol E ALY (etel: =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
OGtd JIgM &bl Xz
440,000 x25 52«14 S 61,600
401 Al&HI YL S OHYI 200,000 280,000 /80,000
01 Al&H| 200,000 280,000 A80,000
Odtd JIgM &l 25,000,000 *8km 200,000
StEEX# &X 50,000 20,000 30,000
401 Al&HI LS04I 50,000 20,000 30,000
01 Al&H| 50,000 20,000 30,000
OotdEX = &Xl 5,000,000& 1074 2 50,000
Aot HHIALS 3,509,608 4,609,608 21,100,000
= 1,609,894
= 1,899,714
401 Al&HIZL=ROHYI 3,509,608 4,609,608 1,100,000
= 1,609,894
s 1,899,714
01 Al&H| 3,499,608 4,599,608 21,100,000
Oxotd ZHIAY 2AEH & A&
3,499,608, 000& 14! 3,499,608
= 1,609,894
= 1,889,714
03 AIZ SR04 10,000 10,000 0
OO0t HUIAIY AAR208I
10,000,000& =14 10,000
St 2el 400,000 600,000 A 200,000
L= 150,000
= 250,000
401 Al&HI YL S OHYI 400,000 600,000 A200,000
& 150,000
i 250,000
01 Al&H| 400,000 600,000 A 200,000
Ootd SAZelAd 400,000,000& *14! 400,000
= 150,000
= 250,000
AotE R A2 467,000 578,000 A 111,000
401 Al&HI LS04I 467,000 578,000 A 111,000
01 Al&H| 467,000 578,000 A 111,000
Enel PSS ON L ¥l 467,000
CE==E2& | 100,000 100,000 0
= 50,000
= 50,000
401 Al&HIZL=ROHYI 100,000 100,000 0
= 50,000
s 50,000




SN

X{ ZH -
S = -

A TH et
S7X3 & ot &l

o2l StEZHIAS P2
SN EY O (BH) - MRAY - BLS Bl =2
Gil &t 0

01 Al&HI 100,000 100,000 0
OL=Z =& 100,000, 0003 *1JH 2 100,000
& 50,000
= 50,000

K HF0IAHOAIS (BHA) 110,000 0 110,000
& 100,000
i 10,000

401 AIEHIZ 20 110,000 0 110,000
= 100,000
= 10,000

01 Al&H| 110,000 0 110,000
© Xg=gl A< 110,000
O H&ot BIZ At 60,000
= 60,000
Onds.to WEFAL 50,000
& 40,000
= 10,000

sggA2g 28 133,504 58,540 74,964
& 6,720
= 126,784

bl s4X& 133,504 58,540 74,964
= 6,720
= 126,784

olgl= XI& 87,204 52,240 34,964
= 6,720
= 80,484

308 MHXIHHMSOIA 87,204 52,240 34,964
& 6,720
= 80,484

07 didlZ2s48X& 87,204 52,240 34,964
ogEYAXNH 30,530
ogega 30,000 *350H 10,500
& 3,360
= 7,140
Oofersat 54,000& 150 % 8,100
& 3,360
= 4,740
OBX 15,000& *50J1 750
OXl&egA 6,000 20K 120
SUE MXIet0lE 100, 000& =104 1,000
O3J L 3002 *1,000H4 300
OHEET| =+ 50,0003 684 3,400
O8I d8d 220,000 *20JH 4,400
Oslis noE 50,0003 =124 600
Of/I&3d 3,000& x100& 300
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gelzd 2at
= SdA&

M- B8 S2(3H) - HRAY - BaS

22
J2

20
B
2

ORII+% ME 530,000 *20H 1,060
onssg N 29,674
OF4I| KA 45,0002 12 540
OZaHAl ATAA B 100,0002! » 1504 1,500
os@E I 3,000,0002! *14! 3,000
OUER 24 1,000,0002 « 14! 1,000
oA 24 70,0002 *107H 700
Ol 2 12,0002 %122} 144
OAB EXS 50,0002 *54 250
O 159 400,0002! 10 4,000
OSZ2HX RS oL 500,0002 67} 3,000
ool 25 19,0002 * 1074 190
Ootel et HE 500,0002 x34| £ 1,500
O£3H 20,0002 *107H 200
OszyD 120,000 * 104 1,200
OXzE 2oAY 10,000,000 14} 10,000
Omets ME 50,0002 x3 4| £ 450
SENETN 2,000, 0002 * 14! 2,000
oY N 27,000
OSeEl 2| 2,000,0002! 122 24,000
OZEH 1,000, 000! *30H 3,000
| THE 2 6,300 0
201 Yereg| 2,600 0
01 AtR22/H| 2,600 0
CEIEIRS=1 500
ONMEBSER U 2S5 HAHHEN 222
&3 100,000 *54] 500
o3| 2,100
ONMESE ¥ HANHES 22X 22
bl 7,000 %505 x24! 32 2,100
301 Yeraa 3,700 0
10 BAHI 242 2,800 0
OSBHUAANLSIO L U2 o JEA &
ZREIN 70,0002 20 *23] 2,800
12 JIE2AE 900 0
OHIATH &3 FoIAD ZA3
30,0008 * 102 33l 900
FEOIHIE SRO HES A 40,000 40,000
401 A& 40,000 40,000
01 Al&H 40,000 40,000
OUHIZ SeItl W24 BA
20,000, 0002 «20H 2 40,000
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SN ASTH D

= RIBNEE IS

SRl N8 eg (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
N == 1,500,000 2,526,000 A 1,026,000
NEF=3=Dl LT 1,500,000 2,526,000 1,026,000
FOURAAY 1,500,000 1,500,000 0
401 Al&HIYL ST 1,500,000 1,500,000 0
01 Al&d 1,500,000 1,500,000 0
OFRILAAA(DES 2 1394H) 1,500,000
sEEZs XA 8,737,230 8,138,000 599,230
= 250,000
o 4,873,500
= 15,000
[ 1,972,250
2 1,626,480
XI5k42ke] 180,230 26,000 154,230
[ 13,000
2 167,230
Xote =HE2&2e] 177,080 26,000 151,080
= 13,000
2 164,080
401 AlEHIZL 2 177,080 26,000 151,080
= 13,000
> 164,080
01 Al&d 176,000 26,000 150,000
OXlol= 0|2 AEBZAL EY
26,000,000 x 14! 26,000
[ 13,000
2 13,000
OX5t: EXR2AEY HXIALY 150,000
03 A& 1,080 0 1,080
OXlotes 2252 EXAIE AIZ R0
150,000,000 0. 72% 1,080
DE2 NAXGIs2A2Rde 24 3,150 0 3,150
201 ety 3,150 0 3,150
01 AtR22lH 3,150 0 3,150
o2g+¢ 3,150
Ond= NG Xots=2el A3 &=L
70,0002 *9H x53] 3,150
S QA A BHE 2,410,000 2,075,000 335,000
= 332,500
s 15,000
[ 1,031,250
> 1,031,250
NSRS T 475,000 375,000 100,000
= 332,500
[ 71,250
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SN HETH
M2l szges AW
Sl S AT BE (B9 &)
. MG =
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
2 71,250
401 AlAHIL 2 O] 104,000 104,000 0
=l 72,800
= 15,600
2 15,600
01 Al&| 104,000 104,000 0
O R HEE 104,000,008 %14 104,000
=l 72,800
= 15,600
2 15,600
403 RHEISHH SR 20 371,000 271,000 100,000
=l 259,700
= 55,650
= 55,650
02 BIIZS O CHEHCHE AL B 371,000 271,000 100,000
Ol BRE ST ()
371,000, 00024 *14! 371,000
=l 259,700
= 55,650
= 55,650
ARDEL I BAIL H b 700,000 525,000 175,000
201 LByl 30,000 25,000 5,000
02 ZTZ2H| 30,000 25,000 5,000
02222 2 AA 10,000,0002! *14! 10,000
OALEE SXHI 20,000,000 %14} 20,000
401 Al&HIL 20| 570,000 500,000 70,000
01 Al&| 570,000 500,000 70,000
Os2FYl A 100,000, 0002 * 14! 100,000
OBH+2 HHIA 200,000, 0002 *14! 200,000
=B AL ALY 70,000,000 %14} 70,000
OABX MBAA 100,000, 0002 * 14! 100,000
OYZH 24 100,000, 0002 * 14! 100,000
403 XX SIS K201 H 100,000 0 100,000
02 2125 0T CH 8 ARt bl 100,000 0 100,000
ODA SXT SAIBAIL HHIZA
100,000, 0002 * 14! 100,000
21 22lAE XY X 55,000 55,000 0
= 15,000
= 40,000
402 Q12X 0IF 55,000 55,000 0
= 15,000
2 40,000
01 UATEBE 55,000 55,000 0




A ALTHE D
M == IE
£l SHMA D BHE Y| (cte: =<
A -3 -H2A(SH) - HEAMY - BES O AFH glgg_":\ﬁ Hos
O=clH =cIA4 sX2eld X
55,000, 000 * 14 55,000
z2 15,000
= 40,000
XS F0A2 A (s X2t 260,000 340,000 280,000
& 260,000
403 XIXISHSK=0E 260,000 100,000 160,000
[ 260,000
02 SISO S At Y 260,000 100,000 160,000
OFAHXNT Sti=2FHI 40,000
& 40,000
O+ SHi=2FHI 50,000
& 50,000
odsE FXXNF SHI==2FHI 50,000
& 50,000
O=HX+ Sti==2ZFH| 40,000
& 40,000
OZEXNT SHi=2FHI 30,000
& 30,000
OJtsX+ Sti=2 &l 50,000
& 50,000
22 ARS 300,000 160,000 140,000
& 200,000
= 100,000
401 AlEHIZ 2] 300,000 160,000 140,000
& 200,000
i 100,000
01 Al&HI 300,000 160,000 140,000
OS&EX T i HSALY 300,000,000 * 14! 300,000
[ 200,000
i 100,000
EIA=FHEINAS 40,000 40,000 0
& 20,000
= 20,000
401 AlEHIZ 2 40,000 40,000 0
= 20,000
= 20,000
01 Al&HI 40,000 40,000 0
OFZPE =58 AXIAY 40,000,000 14! 40,000
= 20,000
= 20,000
oA EHE > 200,000 0 200,000
& 100,000
= 100,000
401 AIEHIZ 2L 200,000 0 200,000
& 100,000
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SN AL D
M sEes A9
SRl S A B b (25 &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 100,000
01 Al&t| 200,000 0 200,000
OLZABT SHEINLAR! 200,000,000 14! 200,000
= 100,000
2 100,000
THE 210 Abed (S A= ) 380,000 580,000 200,000
= 380,000
401 Al4HIL = 0] 220,000 430,000 £210,000
= 220,000
01 Al&t] 220,000 430,000 £210,000
0¥ YUl SSOS SE2EFAY 50,000
= 50,000
OSol Hiel LY SZHHIAL 40,000
= 40,000
OSHHY YEel YW S2HHIAL 40,000
= 40,000
OBEX? SEIHI 30,000
= 30,000
2517 2| 30,000
= 30,000
0DEXP I 30,000
= 30,000
403 XX HSKZ0I 160,000 150,000 10,000
= 160,000
02 BJI2+S0ICHEHCH AFE bl 160,000 150,000 10,000
O0Y2E M2SAINBTA SZEIAL 40,000
= 40,000
0148 HEXNT S2FY| 50,000
= 50,000
O5tYE BHSXT S2IH| 30,000
= 30,000
©5H018 BEXT S2FY| 40,000
= 40,000
5 24 TH H 0l 2 290,000 398,000 ~108,000
= 250,000
= 20,000
= 20,000
EETTE=S/El 290,000 125,000 65,000
= 250,000
= 20,000
2 20,000
401 Al&HIL =] 290,000 125,000 165,000
= 250,000
= 20,000
= 20,000
01 Al 290,000 125,000 165,000




SN AT D

Hm: sEgAs A

SRl S SO0 (el =@
_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
Ot Uit S=IHE A 290,000, 000& » 14 290,000
= 250,000
L= 20,000
i 20,000
SEXNS L 5,857,000 5,639,000 218,000
= 4,541,000
L= 908,000
= 408,000
sEZFI|IEES 3,264,000 3,064,000 200,000
= 2,585,000
= 489,000
= 190,000
401 Al&HI LR OHYI 3,264,000 3,064,000 200,000
& 2,585,000
& 489,000
i 190,000
01 Al&HI 3,244,000 3,054,000 190,000
OBZEIIY HEAY A&
3,244,000, 000& 14 3,244,000
= 2,571,000
= 486,000
= 187,000
02 Zeldl 10,000 0 10,000
O&EFIIgt &= ALY Z2ldl 10,000,000& 14! 10,000
= 7,000
= 1,500
= 1,500
03 AIZ20i4l 10,000 10,000 0
OF D8t SSAtY AIZR20UYI
10,000,000 * 14! 10,000
& 7,000
& 1,500
i 1,500
sE0tE g 2,593,000 1,625,000 968,000
= 1,956,000
& 419,000
= 218,000
403 X HMEA=01H 2,593,000 1,620,000 973,000
= 1,956,000
L= 419,000
= 218,000
02 21 2SOCHEHCHE A HI 2,593,000 1,620,000 973,000
Osgdd sE0S SEMLAY
2,023,000,0003 * 14! 2,023,000
= 1,556,000
& 334,000
= 133,000




SN

M sE2As A
G sEX AL (cte: &
_ _ NE T =
2N -3 - c2(3H) - NEME - HES 0f] AboH @E% Hon=s2t
OFTANE S=0IS SSHNUAY
570,000, 0002 x4l 570,000
2 400,000
[~ 85,000
= 85,000
CRHM 13,352,365 9,252,045 4,100,320
2 1,089,000
[~ 4,050,000
= 8,213,365
22 2,374,365 1,062,045 1,312,320
[~ 50,000
= 2,324,365
S22 22 58, 167 30,670 27,497
201 LBt Y 30,367 21,670 8,697
01 At222lH 13,120 5,120 8,000
(©FIIESE=1]] 12,000
OL2E4E A7 1 4,000
OTZ20tM QI2tE 2 OFMEE ol 4,000
OT2E42 Jjolorden U 02 poly| 3,000
OT222|Y 222 2eH| 200,000 x5 1,000
O zoe|MoLE 2GaL
70,000 *4% x43] 1,120
02 Z22%H| 17,247 16,550 697
o¢EH| 12,147
OOUIHII,HED| LA (FLR)
1,650 %90 *112] E x60L 9,801
OXES2EH(ZR) 1,5002 %462 £ %34 2,346
OAAZH SX 5,100
O olFD| %2l 100, 00024 *13CH 1,300
OZHED| 22 200,000 23] 400
OgZEa U HARY 2] 3,000
OX=2E 2L 2HE 22| 200,000 *23| 400
206 W24l 10,800 8,300 2,500
01 XH2H] 10,800 8,300 2,500
ORI MR 10,800
QNI AEY 2 10,0002 = 100CH 1,000
ONEXM(Ga2s, 2) 2
2,000,0002 *2= 4,000
OEX B2X 2 1,500,000 2 & 3,000
OLZE HoE(Yaut2tg) 2
70,0002 *40S 2,800
405 KHAHE S 17,000 700 16,300
01 MHMLESEFHSH| 17,000 700 16,300
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AT
CE2AHA
D EE2RAE2

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
Ookz B+ ¢ 17,000
OulF2l ¢ 450,000& =2CH 900
olede #¢ 800,000& = 1CH 800
Odzlg 7 300,000& = 1CH 300
OO0ISA EZ)|(FEBEE)

15,000, 000& = 1CH 15,000

SAIHE AIE&2 B 250,000 0 250,000

401 AIEHIZ 20| 250,000 0 250,000

01 Al&HI 250,000 0 250,000
OZANHEEZZ X2 250,000
ORZE QNS (LMI]) 100,000
Oz &4 4 FANE> 50,000
OB RANES 100,000

Do 2R84 71,000 51,000 20,000

203 YR F&d| 1,000 1,000 0

03 AIHFRGRF=EY| 1,000 1,000 0
OHEANYE BMHR =& 1,000
OB =& 20,000& x10H 53] 1,000

401 AEHIZ 2] 70,000 50,000 20,000

01 Al&HI 70,000 50,000 20,000
o2 TZ2AIY DIE < gat 70,000

Obgor 2 ZYz Hi| 504,000 455,000 1,049,000

401 AIEHIZ 20b] ,504,000 455,000 1,049,000

01 Al&HI ,500,000 450,000 1,050,000
oot o4 Y I 200,000
X NUEZ HHISAH 300,000
OXn XNATZ HU|IS A 500,000
o8s-0ts2t T2 MESAL 200,000
OllE NUEZ SILEZAL 300,000

03 Al =0HYI 4,000 5,000 A 1,000
OAE 20| 4,000

T2 NEY XA 6,198 5,375 823

101 ol 24H| 6,198 5,375 823

04 JIZtMIZ22NHsSE 6,198 5,375 823
Onsg T A 21 AH| 6,198
OolAH| 38,870 x6H x21JH A 4,898
OZtAalH| 5,000 *6IH A *x21 1 A x1L 630
Oox& B&& 670

XA FQHAAY (E2) 50,000 0 50,000
& 50,000
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M S 2A4
& 2R X2 (ctel: &
SN I SRI(S) - NRAY - B sk Soe B RS2
401 Al&HI LS04I 50,000 0 50,000
L= 50,000
01 Al&HI 50,000 0 50,000
oOF0I~ZL&?2 DIS=2 & | 50,000
= 50,000
W HHISA 300,000 100,000 200,000
401 Al&HIZL=ROHYI 300,000 100,000 200,000
01 Al&H| 300,000 100,000 200,000
OfIg W& HHISAM 300,000
T2 HAE Hdl 120,000 30,000 90,000
401 A EHIL 201 120,000 30,000 90,000
01 Al&HI 120,000 30,000 90,000
Oz EXI® FH| 58,000
OX¢2 e EXE H 62,000
S=2EHl SI| XA 15,000 10,000 5,000
401 Al&HI YL S OHYI 15,000 10,000 5,000
03 Al S0 15,000 10,000 5,000
OE=2&Hl 371 gX2 15,000
=AM 6,700,000 5,720,000 980,000
= 4,000,000
= 2,700,000
T A 6,300,000 5,420,000 880,000
L= 4,000,000
= 2,300,000
401 Al&HI YL S OHYI 6,300,000 5,420,000 880,000
& 4,000,000
i 2,300,000
01 Al&H| 6,270,000 5,400,000 870,000
O=E At 6,270,000
OSL~EAEZE &2 S E I DA 200,000
OZ8ot~SX2t &2 SHEEIZA 300,000
OFAH~ZH2 &2 SZEIDA 200,000
O&EI~EA2 &2 SHEZEIA 300,000
Olts~2=2t E2 X HIA 200,000
OS82 &2 SEZHEZA 500,000
Ol Z~sted2t &2 SEI DA 200,000
OE~HE2 &2 SHEZEIA 200,000
OZ& 1754 (&d0tE) ZEIA 200,000
Ogas~U=s2 &2 SZEIA 3,970,000
= 3,970,000
03 Al =R0iHl 30,000 20,000 10,000
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M S 2A4

Sol: REAY (ctol: @
= = ol (5 - T &EIE =
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 Hos
OAl& S| 30,000
= 30,000
ZERIBel A 400,000 300,000 100,000
401 Al&HI LSO 400,000 300,000 100,000
01 Al& 400,000 300,000 100,000
02E SN2 200,000
OHM 2| At 200,000
S ET2AIY 2,400,000 1,670,000 730,000
S ET2AIY 2,200,000 1,470,000 730,000
401 AlSHIL SO 2,200,000 1,470,000 730,000
01 Al&l 2,150,000 1,470,000 680,000
OS0HEZZAY 2,150,000
OHIB(&2130854) MYEE HHIBA 400,000
OBA(DA1035) NYTZ FHIBA 300,000
OLY-LH T2 HTEALY 400,000
OARIZ(DH2055) TYZ2 FHHIBA 200,000
OLUYT(SH025) WYEE HHIBA 200,000
OHSAHLB015) TYZ2 FHIBA 100,000
OROYAH(HRB2035) T2 FHIBA 100,000
OFR(MH2025) NY=2 FHIBA 200,000
O=ZeH (SaH025) CREHT HBA 200,000
ONS(DH2055) NYTZ FHHIZA 50,000
03 Al& =Tl 50,000 0 50,000
OAl& S| 50,000
SHETE RAZ2 A 200,000 200,000 0
401 AlZH L2 0] 200,000 200,000 0
01 Al 200,000 200,000 0
O=0ZE T2 SN2l 200,000
TS X DS 22| A 1,878,000 800,000 1,078,000
Z 1,089,000
2 789,000
B 2RI ALY 900,000 600,000 300,000
= 600,000
= 300,000
401 Al&HI LSO 900,000 600,000 300,000
2 600,000
= 300,000
01 Al 900,000 600,000 300,000
OSET2(HETR) X HHAIY 900,000
= 600,000
z 300,000
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rab= P\ =

M C2Hd
S MHSIAHDEZCIHNEALS P A
= _ o MEE =
2N -3 - c2(3H) - NEME - HES AFoH @E% =&
HEl0IES YA 898,000 200,000 698,000
2 449,000
iy 449,000
401 AlEHI L2 898,000 200,000 698,000
2 449,000
iy 449,000
01 Al&H| 898,000 200,000 698,000
O OIBES AL IMNAAS 898,000
OCCTVE XI At 598,000, 000& 598,000
= 299,000
iy 299,000
OEstZ2 ML AL 300,000,000& 300,000
2 150,000
o 150,000
DNEAMNIFSRINSAIS 80,000 0 80,000
= 40,000
o 40,000
401 AlEHIL S THYI 80,000 0 80,000
2 40,000
= 40,000
01 Al&HI 80,000 0 80,000
(OINE==yNIEZ=D ) FuPN e 80,000
= 40,000
o 40,000
HE2FZHI 400,810 372,041 28,769
OlHASHH|(AETH ) 319,790 290,805 28,985
TE2ER 2R 315,590 286,605 28,985
101 14| 315,590 286,605 28,985
03 RIHL 22X E S 315,590 286,605 28,985
OzE43 o1AHH| 315,590
oJlez 42,0003 x13H 300 163,800
OZ2FIN= 163,800, 000& *10% 16,380
OaN3 163,800,000& x4/ 12& 54,600
OAZtel 2F+Y  7,650%x13H +x15A| 2tx12E 17,901
Odxt #32=¢ 42,0003 x13¥ x18 9,828
Osd 2= 42 000 x 13 52! 28,392
OttEsE = 275,402,000& *3.3% 9,089
O= &l 50,000& 13 x12& 7,800
OOl 50,000& *»13%¥ =12 7,800
eNeg 4,200 4,200 0
203 LR =& 4,200 4,200 0
04 2EASIIRF=EH| 4,200 4,200 0
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S AL
K BHE

N2 |
Chol: ol 2oty (A& T L) (s &)
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
FENEEIEEEST] 350,000 *122 4,200
=B (AT D) 81,020 81,236 ~216
st 2 A Y| 26,840 27,056 ~216
201 Yer2g| 26,840 27,056 ~216
01 AtR2elt] 24,640 24,640 0
CETTER =1 20,406
ORN2Y J=248H 7,835
OBRUITL SE£42 50,0002 +202 X 1,000
ORTRMA 442 150,002 +302 X 4,500
Os=28 49 M 60,0008 %207} A 1,200
OZAIIEH(EY) 7Y 300,000 *63] 1,800
OHOIN ZRIE EWEH(EY) 2Y
120,0002! 108l 1,200
OHOIN TRIE ZAEH(SY) 2
400,000! %43 1,600
OAZ ZTANY BYUSK SIILS 242
1,0002*1,27 12 X 1,271
CEET 4,234
02 ZZ2H| 2,200 2,416 ~216
03222 2 MA 2,200
o1l 54, 180 54,180 0
202 01t 54, 180 54,180 0
01 =LH0i | 54, 180 54,180 0
CBE-ERS TN 37,800
ORUE I 01| 65,0008 %212 x 122 16,380
EEE 868,941 236,410 632,531
LH S 4 2§ XI & (21 & TH 4 ) 140,441 127,910 12,531
WEEEIpE E 140,441 127,910 12,531
702 JI2HES 140,441 127,910 12,531
01 JIZFES 140,441 127,910 12,531
omazII2 Be2 140,441
CRSUES 728,500 108,500 620,000
ENZ0IRILIOL o= A SX2 Ol XS 728,500 108,500 620,000
311 XU 301Xt 8 108,500 108,500 0
02 Al+ 2 - 2XIGHLII DTS 01X 4 2 108,500 108,500 0
OEHZ"0IRILIOH X2 01Xt &8
3,100,000, 0002 3.5% 108,500
601 X2 ata 620,000 0 620,000
02 Al- 2 BXOHLIISNYS S48 620,000 0 620,000
OEHZ"0ISILIOH BX2 83 &8 620,000
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